Settlement Revision – General/Credit
1. P.33 6C

Describe the things needed when looking for a suitable site for a settlement hundreds of years ago.
5 MARKS

2. P.40 7A-7E

A) What are the functions of a settlement?    1 MARK

B) Write 2 sentences to describe the location of an industrial town, port, market town and resort town.
C) Give 2 characteristics for each of the different towns above.           16 marks 

     3.
    P.52 9A


    Name the 5 different land use zones of a city.   1 MARK

4.     P.52 9B-9F

a. List 5 features of the CBD        1 mark
b. List 5 features of the old industrial and old housing zone–inner city 1 mark
c. List 5 features of the new industrial and new housing zone–suburbs 1 mark

5. P.47 

8B - What is a sphere of influence



1 mark

8A - What are low order services, give 2 examples      
2 marks

8A - What are middle order services, give 2 examples 
2 marks

8A - What are high order services, give 2 examples      
2 marks

8B - Why do large department stores, have a large sphere of influence? 3 marks

8B - Why do newsagents have a small sphere of influence?   3 marks

6. P.48 8E

Give 2 other names for spheres of influence


2 marks
7.
P.57/58 10B- 10F and diagram

10B - What is urban decay?  1 mark

10A - Use the diagram to describe a landscape of urban decay.   4 marks

10C - What is urban renewal?  1 mark
10D – Why did councils knock down tenements in the 1960s?  1 mark

What did councils replace the old tenements with and why? 2 marks


Why did people not like the new type of housing? 3 marks


10E – Why were New Towns built in the 1970s? 1 mark



Look at the Plan of a New Town – list the features of a New Town 3 marks


10F – Why was the Inner City housing modernised in the 1980s? 1 mark



Make a list of ways in which the area and housing were modernised 10 marks

Total 60 marks

